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T/F/Uncertain, explain.  Your score is based entirely on your explanation. Answer 14 of the questions.  2 point bonus for your name and TA name and section letter.

1. A price searcher’s supply curve is given by its marginal cost above average cost.
2. Nurses with the same years of experience make the same average income as welders.  However, nurses have about four more years education.  Over 85% of nurses are female, while over 85% of welders are male.  These facts indicate discrimination on the basis of gender.

3. The apartment dweller next to you plays loud music.  You enjoy his music.  Therefore, there is no economic externality.
4. The average level of profit is expected to be greater in price searcher industries than in price taker industries.

5. The Coase Theorem explains why public goods are expected to be over produced. 

6. Even though pollution is bad, pollution is desirable.

7. Johnny is one of 1000 high rise window washers.  When he took the job he was aware that about one worker falls and dies each year.  He took the job anyway because it paid an extra 50 cents per hour.
a. A safety strap system would cost $1500 per worker per year and it would prevent any falls.  It is efficient to require installation of the safety system.

b. Absent the safety strap, Johnny slips but is caught by a bolt.  To retrieve him would require stopping traffic for two hours.  This would cause 500,000 commuters two hours delay.  It is therefore inefficient to rescue Johnny.

8. If the government reduces missile production when the Iraq war ends, there will be less impact on unemployment if the revenue made available is redirected to environmental issues than to reductions in taxes on air travel. 

9. The earnings of farm workers and lawyers are both likely to show cyclical patterns but for different reasons and of different cycle lengths. 

10. Congestion on the Evergreen Point Bridge could be solved by building a second four lane bridge.

11. Price discrimination will result in buyers with more elastic demands paying lower prices.
12. Increasing returns is inconsistent with increasing marginal costs.

13. A union will desire to set the highest wage possible.

14. A monopolist will maximize the available revenue.

15. Collusion is more likely to be successful is entry is difficult.

16. Sam currently receives a wage of $25 per hour and he works 40 hours per week.  If his wage goes up to $35 per hour he may elect to work less than 35 hours. 

17. Cartels are socially wasteful because they yield large profits to the cartel members.

18. Since there are many convenience stores in Seattle, these stores are likely price takers.
